
Installation Instructions
Media Storage Systems 
Rackmount Component

©Wenger Corporation 2014 Printed in USA 04/14 Part #258A199-01

Wenger Corporation, 555 Park Drive, P.O. Box 448, Owatonna, Minnesota 55060-0448 
Questions? Call.....USA: 1-800-4WENGER (493-6437) • Worldwide: 1-507-455-4100 • www.wengercorp.com

Note: Please read and understand these instructions before starting the installation.
Note: Examine the illustrations on the following pages. If you need additional information,  

 contact Wenger Corporation using the information below.

Visit the Media Storage Cabinet web page at www.wengercorp.com.

Basic Instructions only! 
For more detailed product information,refer to the  
Fixed Media Cabinets Owner’s Manual 258A999.

Contents
Hardware Parts List . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .2
Installation . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .3

Operation . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .7



X003600 
Wire Clamp 

and  
X000482  
#8 x 5/8 

Truss Head Screw

2

Hardware Parts List

*Quantities may vary, extras can be discarded.

1

2

3

4

X001746 
#7 5/8 

Flat Head Screw

5

X003067 
1/4-20 x 5/8 

Truss Head Screw

6

X003599 
Shelf Clip

X003632 
Cage Nut



3

IMPORTANT: The following procedure is shown using the 2-Column Fixed Media Cabinet,  
  the procedure for all other Media Cabinets are similar unless indicated otherwise.
1. Remove the existing Standard Fixed Shelf and replace it with the Rackmount Top Shelf.

a. Remove the screws that attach the bottom of the Fixed Shelf to the installed Shelf Clips.
b. With the Nut Inserts facing down, place the Rackmount Fixed Shelf onto the Shelf Clips at the 

same location.
c. Reattach the screws to secure the Fixed Shelf to the Shelf Clips.

 Fixed Shelves and Rackmounts may be repositioned, but require that the screws also be removed.  
Always reattach the screws after repositioning.

 Fixed Shelves help maintain the width of each column and ensure that the locks function properly.  
Keep the location of the Fixed Shelves within the middle-third portion of the Cabinet.

2. Attach two Wire Clamps (#1) to the bottom of the Rackmount Fixed Shelf using one  
#8 x 5/8 Truss Head Screw (#2) in each of the pilot holes as shown.

Nut Inserts 
face down

Replace 
screws

Wire Clamp  
and #8 5/8 (#1) 

Truss Head Screw (#2)

Installation



4

Installation (continued)
3. Install the Bottom Fixed Shelf so the bottom surface is 18-1/2” (47 cm) below  

the bottom surface of the Top Fixed Shelf as shown.
a. Position one Shelf Clip (#3) at even elevations on each of the four Rails.
b. With the Rackmount Pilot Holes facing up, fit the grooves in the shelf over the Rails,  

tilt the Shelf into position to rest on the Shelf Clips.
c. Be sure that the Rackmount Component will fit between the two fixed Shelves  

before securing it to the Shelf Clips.
d. Secure the Bottom Fixed Shelf to each Shelf Clip using a #7 5/8 Flat Head Screw (#4).

18-1/2” (77 cm) 
between the  

bottom surfaces 
of both shelves

Rackmount pilot 
holes face up

#7 5/8 
Flat Head Screw  

(#4)

Shelf Clip  
(#3)



5

Installation (continued)
4. Attach the Rackmount to the Bottom Fixed Shelf using #8 x 5/8 Truss Head Screws (#2)  

in each of the pilot holes as shown.

#8 5/8 
Truss Head Screw 

(#2)



6

Installation (continued)
5. Close the Rackmount and secure it to the bottom of the Top Fixed Shelf using  

one 1/4-20 x 5/8 Truss Head Screw (#5) into both of the Nut Inserts.

1-4-20 x 5/8 
Truss Head 

Screws 
(#5)



7

Operation
Rackmount Electronics
1. Electronic components can be accessed by tipping out the Rackmount.
2. Additional electronic components can be added but must be done so according to their 

manufacturer’s specifications.  
Place deeper components at the bottom of the Rackmount.

3. Knockout Panels can be removed from the Rackmount by twisting them until they break away 
from the frame.

4. To open the Rackmount, remove the two Screws securing it to the above Fixed Shelf  
and carefully tip it down until the bottom rests on the shelf below.

5. Cage Nuts (#6) can be relocated or installed to match component settings.
6. When routing cables inside of the Rackmount, leave enough excess to tip the Panel forward.

Use a fan if electronic component 
overheating is a concern.
Do not block the top ventalation 
holes.

! CAUTION

Do Not Block 
Ventilation Holes

Knockout 
Panels

Rackmount

Install Additional 
Cage Nuts 

(#6)

Remove 
Screws to 

Open



8

This page is intentionally blank.


